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Properties of Equality

S .
Properties of Equality Property Example(s)
x -7= 14
£ +7
Addiition Property of Equality lfa=b,thena+c=b+c. —r;(-— l]
I X=y then X+2=Y +tA =R
) J

7 =14
x:ﬁ_] L

Subtraction Property of

fa=b,thena-c=b-c

Equality =
iF X=4 then x-2=Y-RA [X
= N AT
Mu”'p"cggzgl?yope”y el Ifa=b, then ac = bc
if X=y then 3x=3Y
7x= 1%
Division Property of Equality If a = b, then o/)c: b/'g + g
f X=Y then 3 =73 X= B
J
Properties of Operations and Identities
Properties of Operati d .
rope les' genfgiir: ions an Prope i Example(s)
Commutative Property of Sl abe or . q & = I +9
Addition 10= ’0
Commutative Property of N 0 = &, b
Multiplication S~B=b-a . (‘0 ‘%9 . g 2
Associative Property of GYOL{P(I\Q i +(7+Q) = (1+1) +q
Addition - arlotc)=(a+b)+c |+l = 3+9q
ikl s R d
ot S
Associative Property of bl = NERDE (2:3) -9
Multiplication a-(b-c)=(a-b)-c @ 2% .+ q
‘ i&l(o =2 (sl
- Distributive Property of : ~ : 3 (N)"’;) 310+3.5
‘Multiplication over Addition a-(b+cj=a-b+a-c




GSE Algebra |

Unit 2 — Equations and Equality

2.1 — Notes

Additive Identity Property

a+0=a

[l

Multiplicative Identity
Property

Additive lnverse'Préperty

a+(-a)=0

Multiplicative Inverse
Property

¥ reCRrqsal &

b a

Multiplicative Property of Zero

Exponential Property of
Equality
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teral Ecbua liohS

' rationS
Example #1: U/?& LEioC Op<
| Solve -5x +y = -56 for x. whatly MfP::ndﬁ 1o )C =
’S—

) | .y ‘Y x 60- - :
x-Sy e o
| = = j 5
—  Example #2:
| Solve 2x - 4y = 7 for x. e I "'&hﬂ X_____,ﬁ +7
;’ ) - ga\ Z
| - Hy - g

- !-Examgle #3:

L
[ ‘Solve aly + 1) =b fory. 129_.,-—-
! a a +1 |ta /m
— ' 9: q
! o |-

] Prachce Problems:

i
i
o
|

Uhdo y+l = b/d_

|
t

. szg—Vz— for w. o 4 cH2
Pﬂz = =H* |°
T fP'&U-) =
2. P=2I+2w forl. — =2
a2 |-aw
: ,|.Qw TA
_9 N _
3. F~5C+32forC. E @'32> = C}
o q/S —-52 C\

U ) Divickng by a fraction
1S the Same as rth1 Ismg
b(j lfts Reuwocal

e
Q
N
4jo

(R i A S ["“T"ﬁT;Wf{WT ~ I !
| § i H |



2@ Avery wants a 907 test
average in digebra. She has
made the following text
Scores diready: 88, 93, 82,78,
A4.. What is the lowest score
She could make on the 6™

test to have The aver age she
wants.

card?

2«: James bought 5 basebdll %@ The sum of three

cards and a snack at the

mall. He spent I8 doliars total.
And Tthe snack cost 4 dollars.
How much was each basebdall

consecutive even integers i
60. Find dll Three integers.

0

435+ X = 540

ix=105!

Works
X+X+2+ X+ = O
B 2x+ =0
3x-54

X=12

1g20023)
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f(x)

Warm-up

—2x%=3x+4 and g(x)=-5x*+7x -2
3(ax*-3c+H) + 2

f

1. Find 3f(x) + 2g(x)

[—]ox""+5)c +3
2. Find g(x) - f(x)

(5% +Tx -X)— (-2
TDXTHTK R HQxX B

E.Sx"ﬂox—lo_

3. Find g(-2)

Cx %+ T -Q)
~bx® -0 x +12 + -loxf+I4x =4,
R s SRRV

2_ 2 t)
4

==

gl-2)= “5() * 1) -2

Yoz 5 () -1 -2
= -0 -l

P
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H { = NS el T 1 I
S U e e T ) L]
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Properties of Equality

Justify Your Steps to Solve the Equation

' Sieps

3(x—2) + 10 = 25

Original Equation

3x-6+10 =25 | 6.

Distribuitue Property - .

3x-0=15" |7 subhacton Property
= > Addition Property
x=7

Division %‘pev‘hj—[

Equations and Inequalities

2. 3x—-5<2x+11

(X<l(p

3. 2x+4(7x—3)—8=5x—30
¢+ 12~ 8= 5X-30
Dy -20= 5X-30

4. 2(x—3)=5x+12

ey -(o 5)c+ 1Z E

-8x — ]6~—8(2x 6)

5.
-8x-lb= -lox 48
- 8x =-luxtlH
X 7
“ 2710
Iox= 4
U]

—
<

s=1L) -

- *10&5" =

A5 X

8y = o

E




Functions and Rate of change

Write and equation for the function in the table.

*hint* Determine the slope using the slope formula. Find the y intercept from the

table.

a=2x+q

14

Use the following functions to find the given value or expression:

fx)=x+2

1) f(0) =

2) 9(8)=

3) h(2) =

2

5

5

1
=—=X+1
a(x) o X+

h(x)=2x*>-3 m(x) =3 -x

L a4 S 7\

4) 9(2) + h(2) =

5) 2g(x) + 3f(x) = Y+ &
X+2 + 3x+tL

3
6 f+gx) = X t3
X~ + '{‘xﬂ

) Emeg=_2x—=[

Xt+t2 ~2+4x

Py



More on Functions

Find the following values:

a(l) = =
g (5) = i

gioy=__ b
agl_ Y4 )=5
g q )=+

—

o - 00 D

N L) B

|

|
e

—
=

State if the following is a relation or a function, then state why or why not.

1) ((52) (63) (7.4) (83)) ‘{{M{

no repeat  1npvt
3)

2)

NO -

input

oufpu

4)

b o




Literal Equations

1) Fory: -12x+ 4y =-8 = lZ_\J_;g ét 3)5-2]
3

2) W: P=2(L+W) P

3) Fora: ax+by=c

6) F:C=(§)F—32. (%;@+327 :ﬂ

b+X bx X
o m




Word Problems

1) Sara wanfts to have an average of at least 90 on her tests. If she took three tests
and earned an 84, 95, and 82, what is the lowest grade she has to earn on the

4 ;(>_0|q

2) Lola travelled to New York to visit her grandmother. When she arrived at
the airport she had to take a faxi to her grandmother's house. The sign
says the cost for the taxi is $5.00 plus .20 a mile. Create and equation that
models the situation. State what x and y represent in your equation.

\3502)“5 x=mudes thaveled

v-dwal co sP

3) Jordan is trying to find the sum of 3 consecutive odd integers. Their sum is

249 . Find the 3 numbers. Show all work. ) 83 XSj
X+ X442 +x+4 = 2uq 3x=d43 l-—-g’ .

3x +lo =249 X=48l

4) The width of a rectangle is 4 inches more than the length. The perimeter is
56 inches. Find the length and width of the rectangle. You must show your
algebraic equation and work to get credit!

P2l + AW
Tl =QL+2(e+4)

Hg=40




Graphing:

1) y= §x+4
: [] a. State the Domain (- oo'aO)
,' - 1] b. State the Range (- €2, o)
117 P ] :
o =t 3 == C. State the y intercept (0)"")
; ] d. State the x intercept (—(p, 0)
9 e. S’rateihe End Behavior
Let?r - 0
X -o0° :1—) =
co

X 7 o° y-r —_

-y
2)y= "2 m= 7
; a. State the Domain (.-oa,m)
- b. State the Range (- oo yo2)
4
. Bl 3 3 0 c. State fheyin’rercepf (0,‘9?)
4 d. State the xj -L
s X intercept ( 2)0)
A
e. What s the Rate of Change? @
Slope



Arithmetic Sequences

visitors. The table shows the
projected annual visitors to
museum (in millions) after the
changes. What is the projected
number of visitors in 8 years?

! 3.9
2 7
3 8.5
4 10

Gn* |5t Y

aﬂ:an" "H.S.

el R Common Myagl Recursive Gi

Codmgla g g ; : ven Term
o -R?P’ese“?“ﬁ?’? : « Differetica Explicit Formula Esrmula

20.-10, -3, 4, ... 7 ah: -|0+Cn_])7 q‘-.:-(o a,

‘r ap=Tn-1%+ =

21. Camden is collecting bugs = - ,\ o - g‘ a
for science class. The first day 'Hlp a" $+ Ch q‘ 3 ’
his sister helps him, and he finds

35 bugs. After day 2, he has 51 an . I(OI‘\ 'I' lq A=A f](p q q
bugs. On day 3, he has 67 h “h-

bugs.

22. A museum usually has = - a
4,000,000 visitors. They made Ay2E5S t(n-NIS| Q= 5 :
some changes fo increase 1. ‘ .g mill ‘ (p




